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4.2 Solving Linear Inequalities
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Recall: Solving a linear equation... Solve 4x - 9 =

Consider 4 < 12

Operations with inequalities:

add to both sides subtract from both sides

U < |2

re ks g s\R
C\E A 2 <o

&<\ o SN s

divide by +

<\ q £ 1\
e =5~z
2 < b -2 <

'\SUZL
*’?\»‘v INR SN s-nly Afonsnrt bohs Bliing o
el and e 2"



4.2 solving linear inequalities September 27, 2016

Solve a linear inequality: Remember if we multiply or divide by a negative, the inequality sign switches.
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What does this mean graphically?

More examples:
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What do these mean graphically?

Don't forget we can also use interval notation to discuss the solution sets!
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Example: Is x =5 in the solution set of the following inequality?
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Example: Solve x2-3x-10<0
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